CLUFIX®

Ecrous a sertir en aveugle
Blind Rivet Nuts

S=X-Ep
TAL, Ls=L-X-E
‘ Lus=Lu-S
|
1 | =
o H ::I:‘:I::
. Q. ! @ %)
s 39 L 5 3 éa
co| - V] ?i
¥ L ‘ ?! ﬂl
- 2 zi
I ?i ?
z >
W
oM _
@D 345 =
=

t Outillages de pose
Fastening tools
IP66 & I P67 ﬁ‘ se référer a / refer to - -
L TOOLIN'FIX |

E mm I
@M ﬁ?- Code H E1174 oA L L.u E @D X $
min - max lm‘) indicative data daN )
M3 x0.50 0.0-1.1 17I030JHBO11XEP 5.0 5.0 10.0 11.9 8.5 1.3 5.0 2.3 500 1.4 1.3 1.4
0.0-1.7 171030JHBO17XEP 5.0 5.0 10.0 12.5 9.0 1.3 5.0 29 500 14 1.3 14
1.0-2.3 17I030JHB023XEP 5.0 5.0 10.0 13.1 9.5 1.3 5.0 815 500 1.4 1.3 1.4
2.3-3.0 171030JHBO30XEP 5.0 5.0 10.0 13.6 9.9 1.3 5.0 4.1 500 14 1.3 14
M4 x0.70 0.0-1.3 171040JHBO13XEP 6.0 6.0 13.0 15.7 9.9 1.7 6.0 2.6 825 3.2 3.1 2.6
0.8-2.1 171040JHBO21XEP 6.0 6.0 13.0 16.4 10.3 1.7 6.0 3.3 825 3.2 &1 2.6
1.8-3.0 171040JHBO30XEP 6.0 6.0 13.0 17.4 11.5 1.7 6.0 4.3 825 3.2 3.1 2.6
2.5-3.7 171040JHBO37XEP 6.0 6.0 13.0 18.1 12.2 1.7 6.0 5.0 825 3.2 &1 2.7
M5x0.80 0.0-1.5 171050JHBO15XEP 7.0 7.0 14.0 17.5 10.5 1.5 7.0 3.1 1150 6.4 6.1 3.6
0.5-2.5 171050JHB025XEP 7.0 7.0 14.0 18.5 11.5 1.5 7.0 4.1 1150 6.4 6.1 3.6
1.5-3.5 17I050JHB0O35XEP 7.0 7.0 14.0 19.5 12.5 1.5 7.0 5.1 1150 6.4 6.1 3.7
3.0-4.5 171050JHBO45XEP 7.0 7.0 14.0 205 13.5 1.5 7.0 6.1 1150 6.4 6.1 3.8
M6 x1.00 0.0-1.5 171060JHBO15XEP 9.0 9.0 16.0 214 13.4 1.6 9.0 3.5 1950 111 10.6 71
0.5-2.5 171060JHBO25XEP 9.0 9.0 16.0 224 14.0 1.6 9.0 4.5 1950 111 10.6 7.3
1.5-3.5 171060JHBO35XEP 9.0 9.0 16.0 234 14.9 1.6 9.0 5.5 1950 111 10.6 7.4
25-45 171060JHBO45XEP 9.0 9.0 16.0 243 15.8 1.6 9.0 6.5 1950 111 10.6 7.5
3.5-5.5 171060JHBO55XEP 9.0 9.0 16.0 254 16.9 1.6 9.0 7.5 1950 111 10.6 7.7
M8x1.25 0.0-1.8 171080JHBO18XEP 11.0 11.0 19.0 249 16.0 2.0 11.0 4.0 3200 27 25.8 11.5
1.0-3.0 171080JHBO30XEP 11.0 11.0 19.0 2641 17.8 2.0 11.0 5.2 3200 27 25.8 11.7
2.2-42 171080JHB042XEP 11.0 11.0 19.0 273 18.4 2.0 11.0 6.4 3200 27 25.8 12.0
3.0-5.0 171080JHBO50XEP 11.0 11.0 19.0 2841 19.2 2.0 11.0 7.2 3200 27 25.8 12.2
45-6.5 171080JHBO65XEP 11.0 11.0 19.0 296 20.7 2.0 11.0 8.7 3200 27 25.8 12.5
M10x 1.50 0.0-2.5 171100JHB025XEP 13.0 13.0 21.0 320 205 2.0 13.0 5.5 4350 53 51 18.6
1.0-4.0 171100JHB0O40XEP 13.0 13.0 21.0 338 220 2.0 13.0 7.0 4350 53 51 191
2.5-55 171100JHBO55XEP 13.0 13.0 21.0 348 235 2.0 13.0 8.5 4350 53 51 19.2
45-7.0 171100JHBO70XEP 13.0 13.0 21.0 363 255 2.0 13.0 10.0 4350 53 51 19.5
M12x 1.75 0.0-4.2 171120JHB042XEP 16.0 16.0 26.0 3741 24.5 2.8 16.0 8.1 6500 92 88 34.6
25-6.0 171120JHBO60OXEP 16.0 16.0 26.0 399 273 2.8 16.0 9.9 6500 92 88 35.4
40-7.6 171120JHBO76XEP 16.0 16.0 26.0 415 286 2.8 16.0 11.5 6500 92 88 36.2
7.0-9.2 171120JHB092XEP 16.0 16.0 26.0 423 295 2.8 16.0 13.1 6500 92 88 36.8
M14 x2.00 0.0-3.0 171140JHBO30XEP 18.0 18.0 30.0 426 28.6 3.3 18.0 7.3 7800 148 142 51.1
2.0-5.0 171140JHBOS0XEP 18.0 18.0 30.0 446 30.6 3.3 18.0 9.3 7800 148 142 52.3
4.0-7.0 171140JHBO70XEP 18.0 18.0 30.0 46.8 3238 3.3 18.0 11.3 7800 148 142 53.7
7.0-9.0 171140JHBO90XEP 18.0 18.0 30.0 489 349 3.3 18.0 13.3 7800 148 142 55.0
M16 x2.00 0.0-3.2 171160JHB032XEP 21.0 21.0 35.0 455 297 3.7 21.0 8.4 10500 232 222 785
1.0-5.7 171160JHBOS7XEP 21.0 21.0 35.0 480 322 3.7 21.0 10.9 10500 232 222 75.2
3.5-8.2 171160JHB0O82XEP 21.0 21.0 35.0 505 347 3.7 21.0 13.4 10500 232 222 76.9
7.0-11.0 171160JHB110XEP 21.0 21.0 35,0 533 37.2 3.7 21.0 16.2 10500 232 222 79.0
FPC000084-2023.A LA CLUSIENNE-CLUFIX : Solutions et composants d’assemblage - Fastening solutions 125

313, rue Louis ARMAND - BP 220 - Z.1. des grands prés - 74304 Cluses Cedex France - Tel. +33 (0)4 50 98 13 13 - Fax. +33 (0)4 50 98 28 89 - www.laclusienne.com

LACLUSIENNE WARRANTS THAT THE PRODUCTS SOLD WILL BE FREE FROM DEFECTS IN MATERIAL AND WORKMANSHIP AND MEET THEIR APPLICABLE PRODUCT SPECIFICATIONS LA CLUSIENNE MAKES NO WARRANTY THAT THE PRODUCTS WILL BE MERCHANTABLE OR FIT FOR ANY PARTICULAR P!



